| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

0 ]
£
Jo &S
Qe
[~ o
o3 I\
3
o M
=8 |x =}
= |3 2
Ao ¢
H
g
) £ o
o g
1 3
2 o
o E =
A4S s [ |
! < S
e} o . N
[=) 3 F )
B ] .
9 HEW A =)
o o ._/_ 8 o T ,_.v
m — 2 5 — 400 [S)
soen areaydnp H z | syoen syeoydnp oney
0 _ o
N ($2]
£
oo
I\ > o
o 3 I
3
=)
1S s
{0
o pedeecmmseaccmm s e s s o
I Yo}
! =}
o =
43 |
10 Y
4= N o
| FERTRR 14
IS L
) HE
Ite] 1 W [=)
N R
5! 5% oo
b syoen ey oney
90—~ 3
E : I
o S : !
E=l S g .
= > : o
S o X I
o 149
5 X
[ -Jo % M
= — O N m
g o
=-{n >
E L
s |2
o =
N -1 E
> o 3
& 1 'S
S | 3
) Lo 2
] {4 =
i L 3
=] AR k=4
: : : : : 4 Q | 8
= 10 2
B T < a2
S S © 5 2 k]
sy0el any 2, = z
bo -
P o
o)e)
=4
xa
EE}
c C n
TS Z\W/ v
|m_.vm, o O H
b o X seemeie e Q
P B HE
x
= o O 0 2
ooy — 8 e i (=]
aYal + Dl —3l O
E 0 M
3 o ----%---Jo
- e} .
| == |lo
N .-.-Huu
-1 m ° e 4‘
! g
10
— b o
| @ N
<) 5 )
sidn N S .
oy id 0 [ [ PP PP PP TP PPN P PO PO O |1
N = K
= ) 5 P S S R
-
Z one

o
syoer™

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


